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Solution:

] ER A AT TR TN, FEAEWRE R P A S T %, Pl
JRAE G NATIHI I — % BHIRSRAT RO I BTG A8 A mT B A g (4 o B
REBS AR R RN o Bl A A AR 2 5 BEIR AR B PE S AR R 1N, R B
FRIEIX—RIEE T, H b — € st B4 e AR K — AU UM dhi, IX
S22 Bt TR AN BE R N 4 (8 A2 oA ) 227 P& U7 T, 3t At B X A Al i kA5
(K B B ISON & DU [RIAE IR 22 57 BEOR AR 7 oAt 7 i IR T 3RAS RO UL
VANSIAVGINE P

J R RIEAE TR TN s R 57 3 L& IRA R S 5 T, W EE R
A 55 B2 R DRI AN . Fs b, R T AR AN, (HAd AT
REIRAT HABUSON o Eeanfb BE AT e B LGk, WATRER 53— KL TAE. ) e
TRF RN R TN, H578h A REAE AR T RGN 17, BrBLH L& A
FEAFAER] o

RN A ) — R EETT R ML BRASE AR vT e @ (8 ) A B BE i 2R 451
KN, AR, IXMGRIEER, AR HAI. Kk T AR HATSA
BN, FEABEB B RN, BT LM R0k TN (55 B KL 2 A A A7 4
., A%,

2. RIPP B A 2 55 R 01 4 R A Hh 2220 S 5B R A THI U JARFAE, R ERA T AN [R] 2

Solution:

1. ERAE ISP 28 A T e AT P A i 26 A8 52 U, (HH R U JE R R
REAFR. B RA (SAC) ML FTUAE U, RVEA)is iR o ¥
NIEHY, ey Ik B g B AT ERE I — A B A W] AR EE R P N
B ST AT R AL AR E R P R, IR BT P R AR A i 7 R ) 1Y
AT Xt — P A e n) A2 B AR B R0, [ € 2R
7 RURE I A AN T ACRE E (4R R AR AL B ) o T 247 A B — e 4L
BJa, BTAbra BRI, BEERATRERNE S, N
BN T AR B PTG IN P NT AR AT W AR B T R, R AVC 2R E
PEITha e Nidg .

2. KEPFEISA (LAC) HhEZiZ T2 U B, 2 bR A 22 5F BRAN 22 5F D 1Y o
BEE R AR, BRI B B UG O, DRI 7 il B 257 8 D IR AT
T 385 16 T B B, IR IO 7 i ) B B AS B B N TS e BT A
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22— BOS IR BE AR, el BB AS B A AL A 2 A oM A, X
FREIE NI ANAR,  BIP28 JAS [ R AN AR B B, T E Al (R B A AR
B AN REAR AR ZEZORAERG N, PR 0 Bl & A b AR K, B TR XA e
AR, B I R P A A B 2 e NG

3. BRI i g A AR I 9 AT A DX RETS AP BB Q = LOCKO2 ARG L
W (L #7558, K RREAD .

Solution:

1 BRI AR R AL — E AT AF T, A5 A A P EER AR, g
INEEFP A BN R, EBRHE— )5, BB &g, s
I PR i =4 A ARh B RN I I — o LU R, 7 H Rt B IR LA

2. FDCRIAT AR B Q = LOSKO® IR AUER] . WAE LR B, K R FF
A, R LRAERNK, WFFEker=ih Q) = 0.6L~4K3, F5ahilky™
BT LA I SHORAWT: Q) = —0.24L7MK3 < 0, L iilks
AL AT U AR 7 R O BRI 2 R

3.4 L. K AL B BIE e f(L, K) = (AL)?S(AK)?3 = \09L06 K03 =
ANOF(LK), AT Q WIS &N T AQ. Jir DAL A 7™ o B A S I 6 sk, {HL
"R B AR T AN — R

4, FBUEFAN I FE B RA R SR TC(Q) = Q% — 10Q? + 17Q + 66:
(a) 48 HZHT I RS Bk 25 (0 A AR AR 43 RS AR AR 4+

Solution:
A AR AT 4 Q3 — 10Q? 4+ 17Q
AN REAER Sy : 66

(b) SHTFHMMAFIEE: TVCQ). ACQ). AVC(Q). AFC(Q). MC(Q).

Solution:

TVC(Q) = @ —10Q* + 17Q
AC(Q) = Q> —10Q + 17+ %
AVC(Q) = Q% —10Q + 17
AFC(Q) =9

MC(Q) = 3Q* —20Q + 17
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5. BRI WERWT: Q =5000—50P. Hid, Q N/E, P RNNKE. | RS
AR BON: AO:%HOO

() ) AN GRS ER 2 DT RARLRFIEZZ 2

Solution:

HH @ = 5000 — 50P 3 P = 100 — 0.02Q

FiL, SN TR = PQ = 100Q — 0.02Q?

th AC = 599 +20 13 TC = AC x Q = 6000 + 20Q

FNE A BICN S RA, 7=TR —TC = —0.02Q% + 80Q — 6000
FE— B R EBOV R, 45 RE BRI Q,

7 =—0.04Q 4+ 80 = 0 = Q = 2000

13 2FRE R AR B P = 100 — 0.02Q = 60

B KACHIANE A : 7= —0.02 x 20002 + 80 x 2000 — 6000 = 74000

(b) WRBUM XA H AL S AR 10 TR, B ik 5 2 A0 B AlEZ 2

X

Solution:

WS EAL= AE 10 JoRI, W TC = 6000 + 20Q + 10Q
BRNEAN T =TR — TC = 100Q — 0.02Q? — 6000 — 30Q
B =-004Q+70=0= Q = 1750

IS 9 P = 100 = 0.02 x 1750 = 65

FJEA = —0.02 x 17502 + 70 x 1750 — 6000 = 55250

6. — AN BHEAME S EFFE N, AP RAREER, el ARR, KL
FERREN X = —L2 + 1207 + 144L , Ho X Z2FEANT &, L &R N
NN TAE 40 /N, T3 28/NET 6 76, ek

(a) W&z HAELPE—. = =B bm L HE.

Solution:
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MEFHE—. = ZHROHFRET MP, 7 AP, . ) AP, 7 MP, 4T 0 5= %%
B, B0 AP, NEKMEE, AE—WE&E: N-ZHSFHMP, H0HES W& MMP.EX
FERAB=ZME. REX—RE, RETES AP, W& AK MP, =0 B AFFHEE,
.

mF X =—L'+12L +144L.

Fibl AP, = —L* +12L +144.

UP_ Hri1a-0.
oL
‘T%Hﬂlz:fs«

MP, =3I’ +24L +144=0.

BHL=12.

BTll, % 0L<6Rf, RTEFHNE—MHE: .
6L<12 R, TFEFHE_BE; .
128, RFAFRE=WE.

(b) @R FAER AR, R R 2

Solution:

A7 @A Py = SAVC 9R/MERY, T RILEF, SAVC RAKAEE AP, ARKfE,
W EERTE DA, 1=6 K AP H&KAMHE. -

LI=68, PEX=-6" +24x6" +240x6=2088. .

BT HFESENEATLE 10 B, 8RR 6 7T, BTl 6 M A—FM TH AR WL=40
XB6X6=1440 (IT). «

A, save="L_ 1M 560 5.
0 2088

LR AIMIEET 0.60 Th, MFIEE=. .

(c) WSS R ORI A S 1096 76, TR 8 AT, )R M R AR
e

Solution:
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e S 5 W
TEENFHAW = VMP =P, -MP,, W: P.=— .
L

% 1=8 B, MP, = 3x8% +24x8+144=144. .
BT AEBANTER 40X6=240 (£), M. .

p="__ 16 .
Y MP, 144

=8 K, SFFE X =-8 +12x8" +144x8=1408. .

Stz TR =X -P_=1.67x1408=2351.36 (70) -

B[R ATVC =W - L =8x240=1920 (ju) .
BT HIEEEE 300 ju, #HFE T =TR-TVC -TFC 8.
BEMAETFC =TR-TVC — 7 =2351.36-1920-300=131.36 (7m)

7. FHAA—5KIE] ) LAC 2R LMC #HZR . &0 37 Q1 A1 Qo M7= & m A%
AR PR R SAC HIZ:F1 SMC fhk.

C

LMC
LAC

e o A w e R - -

>
<
e
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Solution:

PR QM Qo b, EEMA =L SAC HiZE AN SMC HhZk /& SAC, 1 SAC,
PLE SMCy F1 SMCy. SAC, F1 SACs 4 VI T LAC ) A S5 A1 B i, SMCy fl
SMCy W4 BAHAZ T LMC [ A’ #1 B! /&, i A

LMC

SMC,

8. WAl AR 7 BT R £ O SR U B R B i AR

Solution:

WREA P130 T,

9. FA TIPS [ —F = g, ERARECN C = 207 + Q3 — Q1Q2, Hh Q1 2
B DEEE R, Qo AW ANHEM . RKAAF LR 40 I, PIZENE
IVAPECSE e 20 i PO AL LIS YD W S S

Solution:

PN 2R TA) A 7 BT s B AR 7030 9

C1 = dgy =4Q1 — Q2

Coy = % =2Q2— 1

O E) Gy B AR PR AT 55 BOAZAE A & A 22 8] L PR A A 55, B 4Q1 — Q2 = 2Q2 — Q1
AfF Q1 = 0.6Q2
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XA Q1 + Q2 = 40, Al 1
{Ql - 157@2 = 25}

10. 3T A FREA R BN MC = 3Q% — 30Q + 100, Ff HAF= 10 AN B 5 i S A
R 10006 3K [ 58 B A FI1E -

Solution:

BN TC = /MC’(Q)dQ - /(3@2 —30Q + 100)dQ = Q% — 15Q° + 100Q + C
H TC(Q = 10) = 1000 AJ#3 C' = 500

B UL 7 2B P2 1 [ 52 B AR A TFC = 500
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